#30:国际差异
Differences between countries have become less evident, so we can enjoy the same films, brands and TV programs. To what extent do you think the disadvantages of this outweigh the advantages?
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Differences between countries have become less evident: countries are similar to each other, countries have similar features
We can enjoy the same: have the access to the same/identical
 Films, brands and TV programs: movies, TV operas, consumer products
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Countries around the world have become increasingly similar to each other, and it seems that the films and TV series we watch are the same. We also buy the same products in different countries. This has some problems, although it may has its advantages. (6.5)
Globalisation has led to a loss of diversity in the films and TV series we watch, as well as the products we can choose in the market. The sameness of the cultures worldwide may pave the way for ongoing economic integration, but  we might sooner or later find ourselves living in a mundane world.（7+）
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In conclusion, while I agree that the access to the same films, TV programmes and brands can bridge the gap between people of different nationalities, it can have a damaging effect on some cultures and less powerful brands in the world. 
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 点击开始作答观点
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学生的范文（7+）
It is increasingly difficult to distinguish one country from another in a globalised world, where people watch the same films as well as TV shows and buy the same products. I would argue that this is a negative development, despite its contribution to cross-cultural communication.
 
The sameness of the content of media as well as products in the market can reduce cultural diversity worldwide. Cultural attitudes and values of some countries can be changed significantly if viewers are exposed to the same information every day. Some American values such as freedom, individualism and consumerism, for example, have spread throughout the world with Hollywood movies and TV series gaining popularity among young viewers. Similarly, the penetration of brands such as McDonald’s, Pizza Hut, Starbucks and Nike has driven changes in various aspects of lives, and the consequence is that some local businesses have been shut down and some traditional ways of life have disappeared.
 
On the other hand, as people have similar lifestyles and value systems, they would be less likely to commit cultural blunders in communication and cooperation, whether they are from the same country or not. They are familiar with the social norms, work practices and community styles prevalent in the world as they subscribe to the same TV channels and live basically identical lives. Likewise, the consumption of the same products means that they do not need to make an effort to integrate into the local community when they travel abroad. They can initiate a friendship easily with locals and explore possibilities of cooperation in work contexts and academic settings.
 
In conclusion, I am worried that cultural globalization, which is shown in the dominance of films, TV shows and companies in the world, threatens the diversity of cultures, although it paves the way for cooperation among people of different nationalities. 
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	学生的观点
	错误的原因

	看电影，感受文化，提高literacy   skills
	跑题。题目不是说看外国电影，是看相同的电影。

	缺乏产品的多样性和类似品牌和产品的竞争，会造成质量下降
	逻辑不好。质量好的产品才会大家认可，下降了肯定会有新的产品替代。

	国家间差别小，方便用到国外知名品牌产品，人们可以享受更好质量的产品和服务
	逻辑不好。因为用到外国的产品，外国的产品变得流行，才会差别小。

	全球化增强国与国之间的了解，共同合作解决一些涉及多个国家的问题。
	完全跑题。这个题目说的是大家可以看一样的媒体信息，使用相同产品的好坏处，不是简单讨论全球化的好坏处。

	全球化好 ，相互交流 ，文化差异缩小
	完全跑题。这个题目不讨论为什么大家看的东西和买的东西一样，问的是影响。
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A 享受相同的电影，品牌和电视节目 B 文化趋同 C 影响文化多样性，人们归属感
解释（A_B）：人们会去认可电影和电视所传播和倡导的一些观念、生活方式、价值观
解释（A_B）：产品影响消费习惯和生活习惯
解释（why C 是一个问题）：人们生活在一个枯燥的世界
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A 享受相同的电影，品牌和电视节目 B 某些大品牌占据整个市场 C 对于小国家的品牌是个冲击
解释（A-B）：消费者每天都接触这个品牌的广告，电视机节目和电影里有植入广告，自然会产生好感
解释（A-B）：媒体信息展示消费这些产品会带来快乐
解释（Why C is a problem）：本地品牌很难生存，选择越来越少
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A 国家间的差异变小 B 人们相互交流和相处更加容易 C 能够一起做事情
解释（A-B）：知道别人交流的习惯，忌讳的话题，交流不会有误解，或者犯错
解释(A -B)： 生活方方面面很类似，形成默契，相处容易
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